
R
E

V
IS

IO
N

S

D
E

S
C

R
IP

T
IO

N
D

A
T

E

53
 O

LD
 W

IL
T

O
N

 R
D

.
M

IL
F

O
R

D
, N

H
 0

30
55

(6
03

) 
67

3-
20

40
P

R
O

JE
C

T
 N

O
.

D
E

S
IG

N
 N

O
.

U
T

IL
IT

Y
 N

O
.

D
R

A
W

IN
G

 N
O

:

IS
S

U
E

 D
A

T
E

:

D
E

S
IG

N
E

D
 B

Y
:

R
E

V

SHEET

A
E

R
IA

L 
 C

A
B

LE
  S

Y
S

T
E

M
S

®

1 OF 2

I-
9

3
 C

ro
s
s
in

g
 a

t 
B

ro
o

k
d

a
le

 R
d

, 
S

a
le

m
 N

H

L
ib

e
rt

y
 U

ti
lit

e
s

R
e

le
a

s
e

d
 f

o
r 

C
u

s
to

m
e

r 
R

e
v
ie

w
1

DRAFT

8
/3

0
/2

0
1

8

A
E

-1
1

2
-E

0

1
4

4
0

5

4
4

5
8

J
A

P

8
/3

0
/2

0
1

8

Project Summary

Cable: 477 Kcmil, AAC 15kV Black 3 layer
Messenger: 19 No.8 AW
Spacer: RTL-15DM

Span: 396 feet
Poles Added: 2

General Notes:
1.  Weather Case NESC Heavy.  Grade B Construction. See data in Sag Tension spreadsheet for details.
2.  Wires displayed at 32°F, 1/2inch radial ice, creep.
3.  Messenger wire are assumed to act as the neutral, capacity equivalent to 1/0 AAC.
4.  Elevation data is taken from USGS Basemap and Google Earth, coordinate system UTM Zone 19N in ft.

Messenger Cuts: 550

Docket No. DE 18-XXX 
Liberty Utilities (Granite State Electric) Corp. 

Exhibit 1 
Page 1 of 2



-0
+

5
0

0
+

0
0

0
+

5
0

1
+

0
0

1
+

5
0

2
+

0
0

2
+

5
0

3
+

0
0

3
+

5
0

4
+

0
0

4
+

5
0

5
+

0
0

5
+

5
0

6
+

0
0

6
+

5
0

7
+

0
0

7
+

5
0

240

270

300

330

360

390

420

450

240

270

300

330

360

390

420

450

P
I 
0

°0
0

'0
0

"

P
I 

-0
°3

4
'2

0
" P

I 
8

°5
5

'3
3

"

P
I 
0

°0
0

'0
0

"

P
2

4
-5

0
A

C
1

2
4

4
-0

1
s
ta

=
-0

+
0

0
.1

0

P
2

7
A

C
1

2
4

6
-0

1
s
ta

=
7

+
4

3
.0

8

P
2

5
-2

A
C

1
2

4
9

-0
1

s
ta

=
1

+
3

3
.9

4
lin

e
 a

n
g

le
=

-0
°3

4
'2

0
"

P
2

5
-2

P
2

6
A

C
1

2
4

6
-0

1
s
ta

=
5

+
2

9
.8

2
lin

e
 a

n
g

le
=

-8
°5

5
'3

2
"

P
2

6

134

2
1

3

3
9

6

Bridge
 (20ft Clearance dashed spike)

P24-50
AC1244-01

P27
AC1246-01

P25-2
AC1249-01
REFERENCE: Top cut 5'

NEW:
1 SP-1-55

P26
AC1246-01
REFERENCE: Top cut 5'

NEW:
1 SP-1-55
1 SP-4-40

I-
9
3

Brookdale Road

Back Span Double 7/16EHS guys (or equivalent)

20` lead to guy highway crossing

Front span Single 7/16EHS guys (or equivalent)

20` lead

Attach inline with messenger

Back Span: Double 7/16EHS guys (or equivalent)

20` lead to guy highway crossingFront span: Single 7/16EHS guys (or equivalent)
20` lead

Attach inline with messengerBisector for angle: 7/16EHS guys (or equivalent)
Stub pole guy: 7/16EHS guys (or equivalent)10` lead

Bridge

R
E

V
IS

IO
N

S

D
E

S
C

R
IP

T
IO

N
D

A
T

E

53
 O

LD
 W

IL
T

O
N

 R
D

.
M

IL
F

O
R

D
, N

H
 0

30
55

(6
03

) 
67

3-
20

40
P

R
O

JE
C

T
 N

O
.

D
E

S
IG

N
 N

O
.

U
T

IL
IT

Y
 N

O
.

D
R

A
W

IN
G

 N
O

:

IS
S

U
E

 D
A

T
E

:

D
E

S
IG

N
E

D
 B

Y
:

R
E

V

SHEET

A
E

R
IA

L 
 C

A
B

LE
  S

Y
S

T
E

M
S

®

2 OF 2

I-
9

3
 C

ro
s
s
in

g
 a

t 
B

ro
o

k
d

a
le

 R
d

, 
S

a
le

m
 N

H

L
ib

e
rt

y
 U

ti
lit

e
s

R
e

le
a

s
e

d
 f

o
r 

C
u

s
to

m
e

r 
R

e
v
ie

w
1

DRAFT

8
/3

0
/2

0
1

8

A
E

-1
1

2
-E

0

1
4

4
0

5

4
4

5
8

J
A

P

8
/3

0
/2

0
1

8

B
ri

d
g

e

 052AWA, 477 kcmil 15kV, RTL-15
 052AWA, 477 kcmil 15kV, RTL-15
 19 no. 8 AW, 477 kcmil 15kV, RTL-15

Vert. Scale

Horiz. Scale

25.0 ft.

50.0 ft.

 N
o
rth

Docket No. DE 18-XXX 
Liberty Utilities (Granite State Electric) Corp. 

Exhibit 1 
Page 2 of 2



6"

8"

1

2

5

7

8

10

9

4

6

3

1/25/11

DESIGN PARAMETERSITEM QTY

15kV 

REV

3

DESCRIPTION
MESSENGER BRACKET, HENDRIX TYPE BM-14

STIRRUP, HENDRIX TYPE TS-1

1

2
3

1
HENDRIX AERIAL CABLE, (SIZE AND VOLTAGE RATING AS REQUIRED) AS REQ.

4 MESSENGER (SIZE AND TYPE AS REQ.) AS REQ.

1

5 HENDRIX RTL-15 SPACER 

6 CONNECTOR (SIZE AND TYPE AS REQUIRED)

7 GROUND WIRE, SOFT DRAWN COPPER, SOLID, #6 AWG 

8 GROUND WIRE STAPLE 

9 MACHINE BOLT, 5/8" X REQ. LENGTH 

10 SQUARE WASHER, 2-1/4" X 2-1/4" X 3/16" MIN 2

AS REQ 
DRAWING NO. 

AS REQ AC1244-01 
2 DATE

TITLE 

AS REQ. TYPICAL TANGENT CONSTRUCTION 
1

ITEMS IN RED NOT SUPPLIED BY HENDRIX

53 OLD WILTON RD. ● MILFORD, NH 03055 ● 603-673-2040

Docket No. DE 18-XXX 
Liberty Utilities (Granite State Electric) Corp. 

Exhibit 2 
Page 1 of 3



2"

6"

21"

8"

1

2

3

9

6
8

13

10

11

7

14

15

4

POSITION OF GUY @ 8"
FROM TOP OF POLE

POSITION OF GUY @ 6"
FROM TOP OF POLE

12

5

DRAWING NO.

DESIGN PARAMETERSITEM QTY

15kV
61  -90  ANGLES

REV

2

TITLE

DESCRIPTION

CONSTRUCTION USING BA3-15 AND 2IP PLATES

1 

3 

6 

6 

2 

AS REQ 

2 
2

1 ANGLE BRACKET, HENDRIX TYPE BA3 - 15 

2 DOUBLE INSULATED PLATE, HENDRIX TYPE 2IP 

3 INSULATOR TYPE, HENDRIX HPI-15VTP 

4 INSULATOR PIN, HENDRIX TYPE SSP-2 

5 EYEBOLT, 3/4" X REQ. LENGTH 
6 MESSENGER (SIZE AND TYPE AS REQUIRED)

7 PRESHAPED MESSENGER GRIP 

8 GUY HOOK, CONTINENTAL NO. GA-56X, OR EQUAL 

9 HENDRIX AERIAL CABLE (SIZE AND VOLTAGE AS REQUIRED) 
10 GROUND WIRE, SOFT DRAWN COPPER, SOLID, #6 AWG 
11 GROUND WIRE STAPLE 

12 CONNECTOR (SIZE AND TYPE AS REQUIRED)
13 MACHINE BOLT 5/8" X REQ.  LENGTH 

14 SQUARE WASHER, 2-1/4" X 2-1//4" X 3/16", MIN. 

15 THIMBLE CLEVIS, HENDRIX TYPE HDTC

AS REQ AC1246-01

AS REQ
1

8/16/06 
2 

2 

2

AS REQ DATE

ITEMS IN RED NOT SUPPLIED BY HENDRIX

53 OLD WILTON RD. ● MILFORD, NH 03055 ● 603-673-2040

Docket No. DE 18-XXX 
Liberty Utilities (Granite State Electric) Corp. 

Exhibit 2 
Page 2 of 3



3

4

7

11

8

9
12

5

13

8"

6"

4"

18"

15

10

14
1

POSITION OF GUY

2

6 16

9/6/06

DESIGN PARAMETERSITEM QTY

15kV 
TANGENT CONSTRUCTION

REV

2

TITLE

DESCRIPTION

3

3

AS REQ.

1

1 

1 

2 

3 

4 

AS REQ

1 DRAWING NO. 

AS REQ AC1249-01 
3 DATE

1 ANGLE BRACKET, HENDRIX TYPE BA3-15 

2 INSULATOR, HENDRIX TYPE HPI-15VTP 
3 INSULATOR PIN, HENDRIX TYPE SSP-2 

4 HENDRIX AERIAL CABLE, (SIZE AND VOLTAGE RATING AS REQ.) 
5 MESSENGER, (SIZE AND TYPE AS REQ.)

6 CONNECTORS, (SIZE AND TYPE AS REQ.)

7 PRESHAPED MESSENGER GRIP 

8 GUY STRAND, (SIZE AND TYPE AS REQ.)

9 GUY HOOK, CONTINENTAL NO. GA-56X, OR EQUAL 
10 MACHINE BOLT, 5/8" X REQ. LENGTH 

11 EYE BOLT 3/4"  X REQ. LENGTH 

12 EYE NUT 3/4" X REQ. LENGTH 

13 HEAVY DUTY THIMBLE CLEVIS, HENDRIX CATALOG NO. HDTC 

14 SQUARE WASHER, 2-1/4" X 2-1/4" X 3/16" MIN. 
15 GROUND WIRE, SOFT DRAWN COPPER, SOLID, #6 AWG MIN 
16 GROUND WIRE STAPLES

AS REQ. MESSENGER DEAD-END FOR LONG SPANS 
AS REQ. 

2

ITEMS IN RED NOT SUPPLIED BY HENDRIX

53 OLD WILTON RD. ● MILFORD, NH 03055 ● 603-673-2040

Docket No. DE 18-XXX 
Liberty Utilities (Granite State Electric) Corp. 

Exhibit 2 
Page 3 of 3


	2018-10-09 DE 18-XXX Interstate 93 Crossing Petition - Exhibit 2.pdf
	AC1244-01
	AC1246-01
	AC1249-01




